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[aHo: 4AGK=4AJEJK1 ’ XCBK:AC,EMKf

BK = B1K1 - meanaHbl. [Jokaszate AABC=AA1B1C1
[Ooka3zatenbcTso: [Mpoanum MeauaHsl 3a Touku K u K1 u oTMeTm Ha nyye BK (1 B1K1)

Toukn D m D1 Tak ytobel BK=KD 1 B1K1=K1D1 _
Coeauium Dc Au C,aD1c A1u C1. Torga yrmel & 428 = 280 =g D BF @18’0’
v XABD =4 COB= gAP1Dy=x (7,4

Takxe sameTum , yto BD=B1D1 AD=BC u B1C1=A1D1, Torgqa A BCD=A B1C1D1 no
CTOPOHE U ABYM npunexawmum K Hei yrnam. => AB=A1B1 BC=B1C1 , 3ecTHO, uTO

A KB - XAB L, => AA8C =2 R(0.C, no Qbyucropondu kL yzny meuc
vy A i



